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THIRD SEMESTER

CEMENT TECHNOLOGY
SCHEME JULY 2008

GENERAL MECHANICAL ENGINEERING IN
CEMENT TECHNOLOGY

Maximum Marks : 100

Note : (1) Attempt total six questions. Question No., 1
(Objective type) is compulsory. From the
remaining questions attempt any five.
$el B: U & BT 9T wAE 1 (T
TR 1) Afard 21 9w uedi § 3 Bhdt qfg @
g itaal

(ii) In case of any doubt or dispute, the English
version question should be treated as final.
ot SR F e e fEr @ R A
SAFEAT W91 & me H SRm W

I. Choose the correct answer,
TE TR F 799 Hifw |
f)  Mild steel belongs to the following category.
(a) Low carbon steel
(b) High carbon steel
(¢) Medium carbon steel

(d) Alloy steel
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{(2)

3 79
(31)ﬁﬂlmqwﬂ
(a) 7 F4A TIH
(=) 7o FTEA TAA
(3) R 38

[n two stage reciprocating air COmpressor L

Y size of low pressure cylinder 1S :
(a) Smaller (b) Smallest
(c) Bigger (d) Same size
3 OF FNERT T FEW d FH AR W
frave &1 R e 2 ¢
(%) smegnepd BT (9) 7| 81
(%) Fenga =R " (3) wF YR &
iii) Which among the following is constant pressure
' cycle?
(a) Otto cycle (b) Diesel cycle
(c) Camot cycle (d) Dual cycle
FefvRa el d d Ar-m RR A & ¢ 7
(1) M) =% (@) Ha &
(/) ¥t == (2) 39 9%
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v Arc - . ..
) Arca under P-V diagram indicates -
(a) Heat transfer

(¢) Internal energy (d) Enthalpy

P-V 31mm % s S agifan 3

(%) ewriia gon (7) Fd werm

() A= it () wi=h
v) Gun metal is an alloy of :

(a) Iron (b) Copper

(c) Aluminium (d) Tin

™ ¥eq faag 2

(@)@ @ (3) a1 &

(9) Ty = (@) Pa =

2. a) Explain the following :

1) State

1)) System

111) Process

iv) Boundary

v) Zeroth law of thermodynamics
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(b) Work done
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{4)
= g |
)
i) e
i) WHR
iv) g
v) TR H LI = Fram

Initial pressure and volume of a gas is 6 bars
and 0. 03 m®. After expansion volume becomes
0.09 m”. Find the work done by system during
expansion when the expansion done at 9

1) Constant pressure

i) [so-thermal

i) Adiabatic

& 1] F i 21a u waEs FR0n 6 bars T4
0.03m* 21 WR ¥ vyTA Ty & ¥EET 00 me
Al A, T ¥ TEE A aen 2m B o we o
TOAT HIAT F&fF -

1) VAR R @ @ 2

i) WHR {HANE &

i) TOR GaS &
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& 0 What 1 steam fable? And w here it ts used’

wiy o) s @ 2 gen o el R e R Y

‘ﬁ I st the “Steam Calorimeters ™ used to determune
T e devness tiaction Fxplain any one ot them

with ncat sheteh O

N 1O o0 S & u FEimie @ ydiee
A0 el o Falned ) s R A qgEe

q avwrgd |

A

foblow oy vonitions o
D Npevttic volume of steam is 0180 m Ry
wd bndalpy of steam s 9SQR) Ag

take Uy - 2 TR Ky

0w e W Pt oRiiE oy @
N A R

DWW AR SR 0 1ot R

W N A e 0o R ge R b
WA O, 0 )

FamSam) PrO
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Voobuwd the state of steam at 10 bars tn the |
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(6)

Eaplam the (hermodyanic SYSems with g,
help of diagrant. )
supfaal b i b 1aa dldd tsgd |
Dierive an exprossion thermal eflicieney tog Oy,

avele Y

) s A A e B R A @nta Sk

Diescritne the working of Cochean Boder wih
the help of dagram 9
A AR A BN 109 @A) man e

Sheteh and explain the construction and workng

of separating and theotting calotineter used fo
determining the divness thiction ot steam. ¥

I ) YNNI a6 ane) queni) v qwid
Feiiblle: 4 dewn v etuore RN

Indicated power o' a diesel engine s 173 AW

The thel consmuption in engine i 9 2 ke
kW

The loxs of power becanse of hction s
‘\

IWCN o tuel ix 45000 R A Fual
U lndweated thermal elicieme

) Rrake theomal etliciency
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Wﬁ?ﬂ?ﬂﬁ@ﬂ%ﬁﬂﬂﬁkw%lm%.
guqanmaqzkgxhr%lém%ﬁﬁamua‘ﬁ
m%mv.skwﬁmﬁﬁeﬂ%mﬁzs‘mm
IHE 9 (C.V.) 45000 kl/kg 81 & 3 Sty |
i) gFa It zeE
i) A% IH@ 2amE |

Explain the working of reciprocating
compressor with the help of neat sketch. 9

TquAEY |

What is Blower? Write its types and application.
Explain its working with neat sketch. - 9
HA T2 7 8% U A4 7w R
Compare carbon steel and alloy steel. What are
the constituents of stainless steel? Write the
properties of stainless steel. -~ 9
S oE PN 2 7 PAAR B F P e

F 2015630 P.T.O.
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‘\V Write short notes on the lollowing -
a) Induced and forced draft fan
b) Boiler mounting and accessories
¢) Four stroke petrol engine
d) Properties of steam
¢} Reaction turbine

f) Internal combustion engine
Frafaiaa w digrs Pomie e
H) TEYE T R T FA
3) afger urifén o TRHNS
7)) AR EE G T
Z) WM H M
(7)) fomem zangs
®) WALEA A .
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